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Evaluating o predicate. formula.. Cct 27
%”ﬁ We are ready t» evaluate Armulas with free and bound
lattables

Hao do we evaluate . formuda. (WK o) or (3K ) T

— For (Yx ), weneedz‘avenfgﬁ&fozzsmeﬁ'reue/y
= Uaﬁ“wM@gf doma/%# e Hor ot least
X ), We hee x 75 True
6ne Value of X N Hhe do»l?{c!e/??@ 0

Formally , the Values of (Vx o) and (3x 00 ase .

- (¥« )a BT o (I ED{MJ)—T 7"7) eoerg dédamll)
and 7 s F oﬁterw?ée, B

1,E
- (3% «><>( = T # @ Elx>d1)_ =T fvr wHeasT one dée dam(l)

and s F oﬁzerwzse
EIX>dJ 45 a new envimnment Crested by making o charge 1o E
ELxe>d ] means hat- " keep all Hhe mappings in E /)dnd- ,
EXCEPT Te—ossigh X deddm(:[)”
Example : ~ Consiler E _defined bow.
EM =3, E (=3, E(z>—1 domm‘ {1,2,3%

QF [x»2](0=2 E Z«*—m(@) 3 E[«»QJ@-—I
OLC [x>23[Y>21(0) =2 A&E Du—>2][5r—>23(5> 2
E [X=>2][Y>27 (Z)f [ | }




Evaluating o predicate  formula et 2F

Our languege > \priable symbols = %, Y
Preclicate Symbols: Q.

Irterpretation I:  dom(I)=21,2Y% &=¢
Environment E:  EX)=] E(4)=2

Examples
gwe an Mteietation I, and an envionment & Such that
LEgx where x=(3Ix QX 4).
- Yisfee hw, So s value B given by Ei.
-To makeumze we. need thete > be af/easz“Metf'em Qond
he second. value I the tuple must-be 2 because E(4)

let T=1 and E=E except that '=1<[, 254

RALY B ﬁ |
QX 4 i J>— T becouse. <1,2> € Q@

 Hence, (3x &(« H)) | -—T and I ’=E.°('

® Gwe I, and Ex» Such ﬁ:at 12#520( Where ¢ = (V« QY

- Yisfree mot, S0 H#s Dalue 5 given bgl& |

- To ke x e, weneedZZTupesm exch startfhg with o
possible valaeﬁ)r«and ending Wwith 2 because E()=2

et =1 and B2=F exept that & = {<,2>,<2,25%

: (127 Elx IJ>~~~ - :
CCase Txp13 | QUGYY T beawse. <1,2>6621"

——1— (@, B2

Case T2 QY ),,,,,,,2 D‘T because. <2 2>e@1
rE; -

>_T aﬂd Iz kEzd

 Theretmne, (V/x B, q»




Evalueting o predicate  trrmuin (et 2%
Our- language :  Varrable symboks = 4,4 predieate symboks: Q2

Interpretatn I: dom(D=11,2% @=¢
Enulronment E: Ex =1  E(Y)=2.

Examples :
@ Give Ia and Ez such What Iz FEs o where o= (Tx (WY Q%4Y)).

Start whth =T and Es=E.

(To make x e, we peed at least 100 fuples n &2 Bof/v go/f’s
need 1% stars wﬁ/v Ve Same Lnlue Bt ¥ . The seand. values

the tuples need o enumersie. all possivle. clome wjuas 4.,

let @2=1<(, 1> </,2>%

To shouf-fhafw(ja’ga) =T, ﬁ' s Saﬁ%\cze/a“ #> Show 7%&2‘

L
(VY 8 9»(15 B

Consider all pnss\b/e w/aes 1%r 9

Cise T4 1. &(4(, ) EaBlfelegeﬂ) T.

Case 4527, Qi fls Bl ’m"”” _

Theretme, (¥4 8 4) > > E’Wg’* A7 IE YT ARE

| | | S N R S



Bwaluatthg o predivate frmula.. Ocr 2F
Owr- languege - voriable symbols: /x, 4 predioate symbols - &2

Interpietation 1. dgm(D)= {1,234 =4
Envtronment E - E(X0=|, EY=2

Examples : | | L &
@D Show that IWFe &« whee o = (T (YY QX YD),

We need to shao that- (% (VY @, 4" O=F . Lohich 45

equvalerd to-
e (~(3x (VY Qi q»})a’g)—-T B

o~ (W (FY (—v&w,w)))

Considet- all - posstble valaes for K .

1 Elx 1][5»13) _
Cose. [/XHIJ QXY ( | o =F becaase <l />¢&I~

Thes, (FY (- 6, g»)(l e 'J) =7

J[H o :f*,
Case Txs27. Qx4 ELx>2]046 - bemuse’<z,z>¢&1, |
(I,E[/x 23) S O il
 Thus (FY (— A, y»)_ﬁ_m ?___ =T

,w_,'/'he&ﬁre,w (W (3Y (- zsz@f_,_y))_)) ,-»T a/zd I#E AEEEN

““““



